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Important Instructions:

The Question Paper Booklet contains 32 pages
including instructions of the Question Paper.
In all there are 200 Questions from 1 to 200
divided into A,B,C & D Sections, of which
each Section contains 50 Questions. Section
‘D’ has two Parts. In this Section Question
Nos. 151-170 are of English, compulsory for
all. For Question Nos. 171-200 candidate has
to select either Sanskrit or Hindi. Any
complaint regarding the booklet will be
entertained within 15 minutes from the
commencement of the Test.

Candidate seeking admission in Sanskrit has
to opt Sanskrit in section D. The candidate
who has applied for BOTH Sanskrit and
General also has to opt Sanskrit only.

Follow the Instructions given at the back of
O.M.R. answer sheet for filling the answers.
The candidate should fill the serial no. and
series of this Question Paper Booklet in the
OMR Answer Sheet at the proper place,
otherwise it will not be possible to declare the
result and the responsibility for the same will
be of the candidate.

NOTE:

All the questions are compulsory.

Each questions carries 3 marks in section A, B
& D and marks for section C will be 3,2,1 and
0 in the preference order.

No Negative Marking will be done.
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10.

Part-A/A91371—31
MENTAL ABILITY/ 3<% A17adr

If 15 January 2004 was a Sunday then what was the day of 15 January 2003 -

(A) Monday (B) Saturday (C) Friday (D) Tuesday
e 15 =) 2004 BT AAGR o7 T 15 TG 2003 B FT IR BI?
(A) WHaR (B) wffaR (C) YhaR (D) HTedR

Directions (Q. No. 02 - 04):

In the following questions, three of the four are alike and so form a group, which is the one
that does not belong to that group?

fder - (w4, 02 — 04):

Pretifed et 3, 99 O IR TH O § ok SR T whE SN § | BT & S @i
&1 T8 87

(A) Parrot (B) Koel (C) Vulture (D) Swan

(A) T (B) ®rIe ©) frg (D) ¥4

(A) Haryana (B) Gujarat (C) Kerala (D) Maharashtra
(A) sRamm (B) oI (C) e (D) WERTY
(A) Potato (B) Coriander (C) Ginger (D) Onion

(A) 3] (B) af+rar (C) 3> (D) @

Directions (Q. No. 05 - 08):

In the following questions, choose the odd numeral pair.
fader : (4. 05 — 08):

fyTifed wet 3, sl & Ry 7w @ Rifed B

(A) 140-45 (B) 110-35 (C) 100-30 (D) 80-25
(A) 133-98 (B) 150-115 (C) 182-40 (D) 188-153
(A) 12:96 (B) 13:117 (C) 15:120 (D) 16:128
(A) 15-46 (B) 12-37 (C) 9-28 (D) 8-33
College is related to student in the same way as Hospital is related to............ 7
(A) Doctor (B) Nurse (C) Treatment (D) Patient
HeTfdenad &1 faemil 4 a &) Hdg 8 Sl SRUATA BT oo B2

(A) SfaeR (B) T (C) zeid (D) rf
Signal : Traffic :: 7 : ?

(A) Dam : River (B) Lens: Light

(C) Door: House (D) Operation : Doctor

Rrrret : Sfthes = 7 0 ?

(A) dfg : 9 (B) iV : Ul

(C) <RATSIT : HHMH (D) 3IIRTF : Sfdex
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11.

12.

13.

14.

15.

16.

17.

18.

19.

MxN:13x14::FxR:?

(A) 7x19 (B) 5%x17 (C) 14x 15 (D) 5x18
BUCKET : ACTVBDILDFSU : : BONUS : ?

(A) ACMNMOTVRT (B) SUNOB

(C) ACNPMOTVRT (D) ACMNMOTURT

If in a certain language A is coded as 1, B is coded as 2 and so on, how is BIDDIC coded?
(A) 294493 (B) 284563 (C) 375582 (D) 394492

afe - W § A BT e 1 &, B &1 & 2 & IR 3 1 v &€ 2, d BIDDIC &1 &
T BRTT?

(A) 294493 (B) 284563 (C) 375582 (D) 394492

If A is to the south of B and C is to the east of B, in which direction is A with respect to C?

(A) North—East (B) North—West (C) South-East (D) South— West

AT A BRI HALZAIRC,BIH gd § g dl A,C & day # fpa fem # 22

(A) STR—qd (B) STR—Ufgd  (C) <Tféwi—gd (D) Sfero—ufed

One evening before sunset two friends Rakesh and Rahim were talking to each other face to
face. If Rahim’s shadow was exactly to his right side, which direction was Rakesh facing?

(A) North (B) South (C) West (D) Data inadequate

U M BT AR ¥ U8l &I QIR D 3R I8 AR Th T I a1 3R @ o |
e W B IRBTS Thad ITS qeH IR off A ey fHa fawm & anm er?

(A) TR (B) =f&ror (C) uf¥asw (D) AT 39T
5,7, 10,15, 22809 .....4

(A) 31 (B) 32 (C) 34 (D) 35

703, 655, 60FP559 S W

(A) 413 (B) 414 (C) 415 (D) 416

A father is, at present, three times as old as his son. Five years back, he was four times as old
as his son. Find the age of his son -

(A) 12 years (B) 15 years (C) 18 years (D) 20 years

Te O, acEr H, 3" YF | o9 [on g g1 Ufd 99 gd 9 309 YA | =R YO g3 o |
H @ I FT &7

(A) 12 @9 (B) 15 99 (C) 18 T9 (D) 20 @Y
fax9=144;7%8=151 ;4 %x6=102,then 2 X 5= ..ccisuus ?

(A) 77 (B) 97 (C) 107 (D) 73
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20.

21.

22,

23.

Directions (Q. No. 20 - 23):

The figure given below consists of three intersecting circles which represent sets of students
who play Tennis, Badminton and Volley Ball. Each region in the figure is represented by a
small letter. On the basis of the figure, answer the questions given below.

TENNIS ——— BADMINTION
5\ SN
VOLLEY BALL
R CIRIEIS))

frder - (w4, 20 — 23) :

SR & TE arpfd H A4 safdureie g €, o fAenfial & wwel @ $fg wxar @ S
<fr, defired ok dfelidie Werd © | i ¥ AU U yRe &3 $I U BieT &R aard
2| MR B R R A= Ry 70 geai & TR ORI |

Which letter represents the set of students who play all the three games?

(A) b (B) c <€ f D) g
HIar e fAenfial & 99 wig & <eiar 8 o 99 Wd @ord 87
(A) b (B) ¢ ©) f D) g

Which letter represents the set of students who play Tennis and VolleyBall but not
Badminton?

(A) g (B) e € ¢ D) b

D11 AR fAenfial & 99 wHg bl quidr g ol Y ok dfelldial Wold & W dsfied
T&I?

(A) g (B) e ©€) c (D) b

Which letter represents the set of students who play Tennis but neither Badminton nor Volley
Ball?

(A) a (B) b € ¢ (D) d

DI AR e & IH WE PN IURT 8 9 SN el & IR AT Al defied 3R AT
EICISIEIS

(A) a B) b € ¢ (D) d

Which letter represents the set of students who play Tennis and Badminton but not Volley
Ball?

(A) b (B) ¢ (C) d D) f

DI der [Aenfal @ 39 |yg & cular & o <9 &k defied Werd & W dfefidfal
EI?

(A) b (B) c € d (D) f
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Directions (Q. No. 24 - 26):

In a school, there were five teachers. A and B were teaching Hindi and English. C and B were
teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B

were teaching History and French.
frder - (U4, 24 — 26) :

U faenery # ufa Red o) A iR B R iR 3iUsi uel 8 | C 3R B 3RS iR Wt
el %@ 9| D iR A Ui iR @< Uer 8 o | E3iR B sfiem 3R wd Uel W' 9|

24. Who among the teachers were teaching maximum number of subjects?

(A) A (B) B (€C) € (D)
Rrerel § 9 rfddad fAvg &9 Uer @ 97
(A) A (B) B & (D)

D

D

25. Which of the following pairs was teaching both Geography and Hindi?

(A) AandB (B) BandC (C) Cand A (D)

=1 4 9 SF9 e 3R R0 T uer W@ 97

(A) A 3R B (B) B3R C (C) C3RA (D)
26. More than two teachers were teaching which subject?

(A) History (B) Hindi (C) French (D)

g1 A iy et wi=ar vy uer @ 97

(A) sfoe™ (B) f& (C) wa (D)

Directions (Q. No. 27 - 28):

None of these
S8 W PIs T8l
Geography

et

Arrange the given words in a meaningful sequence and identify the most appropriate sequence

from amongst the alternatives.
fader - (mE. 27 — 28) :

feu U wreat BT U FiYYl HH H Sy AR QU MU el § ¥ wailte Sugad HH Bl

fafgd #IRT|

27. (i) Appendix (i1) Contents (i11) Title
(iv) Chapters (v) Introduction
(A) i, i, v,i,iv. (B) i, i, iv,v,i (C) v, n v, i, i (D) i, i, v, v, i
(i) uRRre (i)  STIEHHTOTEHT (i) ¥i=
(iv) 3reEama (v) uR=dg
(A) i, i, v,1,iv (B) i, iv,v, 1 (C) v, i, iv, i1 (D) i, i1, v, v, i
28. (i) Punishment (i1)  Prison (111)  Arrest
(iv) Crime (v) Judgement
(A) v, i,ii, 11, iv - (B) v, iii, v, ii, i (C) iv,iil, v,i, i1 (D) i, iii, 1, 1v, v
(i) ol (i) e (i) ARTEAR
(iv) STURTET (v) faoia
(A) v, 1,1, 101, 1v  (B) v, i, v, 1, 1 (C) iv,iil, v, 1,1t (D) i, 1, 1,1v, v
29. How many times in a day, the two hands of a clock are at 90°?
(A) 4 (B) 12 (C) 22 (D) 44
U fed ¥ fhadl IR, G & T 81 90° WR BT 27
(A) 4 (B) 12 © 22 (D) 44
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30.

31.

32.

33.

Directions (Q. No. 30 - 33):

In each of the following questions, two statements 1 and 2 are followed by two conclusions 1
and 2. Read the conclusions and then decide which of the given conclusions logically follows
from the two given statements.

(A) If only Conclusion 1 follows (B) If only Conclusion 2 follows

(C) If either Conclusion 1 or 2 follows (D) If neither Conclusion 1 or 2 follows

fader - ME. 30 — 33) :

I fRU MU URP YT H, BUH 1 3R 2 ® 916 MY 1 @ik 2 | spuf @ ufer ek
foia dhifSie f6 @99 sy R U g1 F2FEl & IR R dHEd © |

(A) Ife DHaa f=pd 1 81 & (B) IfX dadl =ny 2 w2l 2
(C) afe fiepd 1 a1 2 w1 B (D) Tfe forepd 1 3R 2 <1 Terd &
Statements : All fans are watches.
Some watches are black.
Conclusions: All watches are fans.
Some fans are black.
DA Y tl@’ Elﬁ's?ﬁ 21
®Y H$AT Brell ¢ |
forsepd T mfedt o
H{O U B B |
Statements : All grasses are trees.
No tree is shrub.
Conclusions: No grasses are shrubs.
Some shrubs are grasses.
HIA RS TSI gl =
HTS g4 ST ol £ |
fepd DIs O TSI 8] & |
Statements : Some boys are thieves.

Some students are boys.
Some boys are dacoits.
All dacoits are boys.

Conclusions:

B : Y TSP TR T |
5B e faemefi ¥
ot BY TG, ASD & |
a4l ST, FED B |
Statements : No man is a donkey.
Rahul is a man.
Conclusions: Rahul is not a donkey.
All men are not Rahul.
PA BIg 41 3MMEHT T T2l 2 |
RIgS JATEH B |
ey RTgel 9T T8 B |

1.
2
I
2
1
2
1
2
1
2
1
2
1
2
1,
2. oo Ffsal 99 2
1
2
1
2
1
2
1
2
|
2
1
2
1
2
1
2

|1 e I8 T8l e |
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Directions (Q. No. 34 to 36):
In each of the following questions, a set of figure carrying certain characters is given. Assuming
that the characters in each set follow a similar pattern, find the missing character in each question.

farder 4. 34 9 36)
I & T TS e W UAE SNqfa H AW 3fdT BT WHE €| I§ Heddr DI b as
e fodl Mf¥ed e @ = <81 & SU &I & ¥ 9d gU Ud YT P 8L 83N 3d Fd

BIfTY |
34.
4 7
5 1 64 \ 3
11
(A) O (B) 8 (C) 125 216
35. j i: ij
(A) 14 B) 22 (C) 32 (D) 320
36. (3)
O 3
W
(A) 123 (B) 124 (C) 122 (D) 112
37. There are five different houses A to E in a row. A is to the right of B and E is to the left of C

and right of A. B is to the right of D. Which of the houses is in the middle?
(A) A (B) B ) C (D) D

g A~ A A A E P v uffd H €1 A, B D SR B SR E, C & al dam A &
TR €1 B,D & T €| ®IFAl HHE 929 H 8?
(A) A (B) B (C) C (D) D
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38.

39.

40.

41.

42.

In an examination Raj got more marks than Mukesh but not as many as Priya, Priya got more
marks than Gaurav and Kavita. Gaurav got less marks than Mukesh but his marks are not the
lowest in the group. Who is second in the descending order of marks?

(A) Priya (B) Kavita (C) Raj (D) Mukesh

frdl uien & o1 A by 9 SIET & Ui fHY «Af gan 98 Rram B 1, O 9 ke
AR HAAT I TG 3 W1 {6 | ITRT o Dol A FA i W [ b ST 3 A8
H Wad HH S | Dl DI gfte | ged HH H TN TR DI GER A TR AT |

(A) foam (B) wfaar € = (D) H&¥

Looking at a portrait of man, Harsh said, “His mother is the wife of my father’s son. I have no

brother and sister”. At whose portrait was Harsh looking?

(A) His son (B) His Cousin

(C) His Uncle (D) His nephew

U EAl & o @1 SR <Ed §Y BY 7 HEl “SHb! AT W U] B gF B ufcT g1 W
PIE WIS A1 989 eI 21 &Y frus a1 &k <@ @7 o

(A) SIS gF B (B) S TR WIg DI

(C) SH& ardl B (D) D Wcilol DI

By selling an article for ¥ 110, a man loses 12%. For how much should he sell it to gain 8%?
(A) 120 (B) X125 (C) X135 (D) X140

el o @1 110 IH dT W 12% DI BN BIdl & | S I W 8% BT ¥ o1 & g I
e vud # d=m e?

(A) 120 (B) <125 (C) R135 (D) 140

The price of an article has been reduced by 25%. In order to restore the original price, the new
price must be increased by how much percent?

(A) 12% (B) 33%% ©) 25% (D) 30%

e 9vg &1 & 25% b ST 21 39 T qod H fhaw wfowa @ gfg @1 oo & g
T T 8 SY?

1

(A) 12% B) 33-% (C) 25% (D) 30%

If EAT is written as 22 26 7, h;)w will you write LIP?

(A) 151416 (B) 141710 © 91211 (D) 151811
gfd EAT @71 22 26 7 forar Q<1 LIP &1 &9 forar smym?

(A) 151416 (B) 141710 (C) 91211 (D) 151811
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43.

44.

45.

46.

47.

48.

49.

50.

Mohan is 4 times as old as Shyam. If the difference of their age is 9 years, how old is Mohan?
(A) 15 years (B) 12 years (C) 14 years (D) 9 years

HIEd BT IR WH H IR A1 & | I IMT DI MY P AR 9 a¥ &I Al A fba- ay &
87

(A) 15 99 (B) 12 @9 (C) 14 a9 (D) 949y

Directions (Q. No. 44 to 48):

Identify the logic between first two terms of left side portion of sign :: in following questions
and apply same logic on Right side portion of sign :: and find correct alternatives for each
question.

foder (0. 9. 44 9 48) :

A e T uel W R () @ 9 X% I US @ Fed 9@ B Yy 98l dd Tdd
e H g (2) & S OR% drel |1 Y& IR ofF] R GG U9 & forg w21 fased &1 a9
BIFTY |

ACE : ZXY :: FH] :

(A) SOQ (B) USP (C) TRP (D) USQ
BYW :DWU :: FUS :

(A) HSQ (B) EST (C) GST (D) ESQ
MORE : NNSD :: CRAW :

(A) DQAV (B) DAPQ (C) DQBV (D) GQAL
MONKEY : XDIMNL :: TIGER :

(A) QDFHS (B) SDFHS (C) SHFDQ (D) UJHFS

CIGARETTE : GICERAETT :: DIRECTION :
(A) RIDTCENOI (B) NORTECDII (C) NOIETCRID (D) IRDCTIONE

If air is called green, green is called blue, blue is called sky, sky is called yellow, yellow is
called water and water is called pink, then what is the colour of clear sky?

(A) Blue (B) Sky (C) Yellow (D) Water

I BAT BT B, B DI AT, AT DI AR, BT BT U, YT BT G, ITHT DI JeTa!
GHET TG A Gl /AT AR BT T a7 BIIT?

(A) =TT (B) 3THTer (C) drerm (D) Ul

In a certain code ‘786" means ‘study very hard’, ‘958’ means ‘hard work pays’ and ‘645’
means ‘study and work’. Which is the code for ‘very’?

(A) 8 (B) 6 © 7 (D) 4

forelt fAf¥aa wre § ‘786" @1 TSI 9 TS’ 958" B BS dd UG’ AR ‘645" P TS TS
&’ Hal Sy a1 N & foy g1 wrs gFTre

(A) 8 (B) 6 <) 7 (D) 4
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Part-B/919T—4
GENERAL AWARENESS RAJASTHAN/HTHTI ST TSIEATA

51. River Luni originates from the following district -

(A) Nagaur (B) Ajmer (C) Tonk (D) Churu

ST AT BT S v, e e 7 &

(A) AFIR (B) SISTHR (C) <i® D) T&
52. Famous Chand Baori is located in the district of-

(A) Kota (B) Bharatpur (C) Alwar (D) Dausa

uRrg dfe gras! Rea 2, e e &

(A) @IeT (B) WRAR (C) 3R (D) =
53. Which city in Rajasthan 1s called ‘Blue City’?

(A) Udaipur (B) Ajmer (C) Jodhpur (D) Bikaner

ST H {6 8RBl Il WX’ Hal Sl &7

(A) IR (B) 3R (C) SR (D) dIFR
54. Garden Bada Bagh is situated at-

(A) Jaisalmer (B) Bhilwara (C) Jhalawar (D) Hanumangarh

e g7 917 fRerd -

(A) SR (B) frerarst (€) wm@mEs (D) EFAMIG
55. Vijay Singh Pathik, a freedom fighter of Rajasthan, published a newspaper, known as-

(A) Rajasthan Kesri (B) Navin Rajasthan (C) Prabhat (D) Rajasthan Patrika
fasra Rig ufdie, Yo\ & Wa=ar 941, S Uh AR 99 aTer, S 39 9 9
NITHAT SITAT &1—
(A) ORI $ERl (B) 749 o= (C)  9HTd (D) TSI i3l
56. Habib Tanvir’s Film Charan Das Chor was written by which Rajasthan writer.
(A) Malchand Tiwari (B) Harish Bhadani
(C) Vijay Dan Detha (D) Arjun Deo Charan
gdld TR DI fhed IR IR o[ & [ ofdd gRT fordl 8?
(A) #HieriE faar (B) &I WG]
(C) fasa g™ Qo (D) 37T a9 TR
57. Who among the following was awarded Padma Vibhushan from Rajasthan?
(A) Komal Kothari (B) Vijay Shankar Vyas
(C) Natwar Singh (D) Naresh Chandra
o # e d 9 fed ugw fasmor & wwifaa faear mar —
(A) PHA DISNI (B) fasrg viex =™
(C) e Rig (D) Y T=
58. Kamlesh Nagar Koti played for India Under 19 Cricket World Cup in the year -
(A) 2016 (B) 2015 (C) 2018 (D) 2014
HHAY AR BIfS WRA 3SR 19 & fAvad &9 H W 2, 9 a¥ # —
(A) 2016 (B) 2015 (C) 2018 (D) 2014
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59. In Arid Desert of Rajasthan, India shares international borders with -

(A) Nepal (B) China (C) Pakistan (D) Afghanistan
RIS & ¢ I H 9RA (U1 A<RIS I AT A1l el 2, =1 & drey —
(A) ~uref (B) = (C) ulfbw (D) BRI
60. North Aravalli Region of Rajasthan include the following district -
(A) Dausa (B) Sirohi (C) Ajmer (D) Tonk
IR SRTAT &5 # roree &1 = Ry aftafera & —
(A) < (B) RR& (C) 3SR (D) <I®
61. Panchayati Raj system in India was inaugurated in Rajasthan at Nagaur in the year —
(A) 1958 (B) 1959 (C) 1957 (D) 1956
ATl ITERRI BT 3R™ 9RA H, oA & AFR 9 fhd a8 # gar?
(A) 1958 (B) 1959 (C) 1957 (D) 1956
62. Traditional leader of Meena community is known as -
(A) Patel (B) Bhagat (C) Karma (D) Mukaddam
AT FHERI &1 URFRETA =T §9 H | ST STl & —
(A) ucd (B) (©) @A (D)

63. National High Way 8, which connects Delhi with Mumbai, passes through Rajasthan. It runs
into how many kilometres in Rajasthan?
(A) 700 (B) 560 (C) 688 (D) 720
ISR ART &A1 8 Sfl faeell &l g8 9 Siisdl & oiRIE | JoiRdl & | I8 eieerd ¥
fber fobell Hiex &1 87

(A) 700 (B) 560 (C) 688 (D) 720
64. Central University was established in Rajasthan in year —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
ORI | o1 faeg fermera & e g8 9y —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
65. Sahitya Academy, Delhi award for Rajasthani in 2017, was awarded to -
(A) B.L.Vyas (B) Ambika Datt (C) Hetu (D) Neeraj Dalia
g9 2017 HT Fife 3fpreH], facell BT ISR &1 HR 8 fyelr —
(A) &1 gl & (B) Sifder & (C) =q (D)  “T=or Siferm
66. Banasthali Vidyapeeth was established in the following year —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
gyl faemdis & wmuer =1 ad & gd —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
67. Who was the first Woman Chair Person of Rajasthan Human rights commission?
(A) Kanta Kumari Bhatnagar (B) Prabha Thakur
(C) Narendra Kanwar (D) Usha Meena
RISIRRITE AFATE®R ARINT B Ugell Aol fedel i ofi?
(A) Il HARI HSATR (B) 94T ST
(C) = HaR (D) uT Hom
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68.

69.

70.

71.

72.

73.

74.

75.

The first Woman Chief Secretary of Rajasthan was -

(A) Meenakshi Hooja (B) Kushal Singh

(C) Otima Bordia (D) Amarjeet Kaur

RIS 61 W Higell &I Afeq off —

(A) I gl (B) wumel g

(C) nferr aifdar (D) SRS BR

‘Hela Khayal Dangal’ is famous in which district of Rajasthan?

(A) Dausa (B) Jaipur (C) Bikaner (D) Pali
gl TS i’ oI & b f57er # ulig 87

(A) BT (B) SRR (C) dHTR (D) UTelt
‘Pichwai’ art is related to-

(A) Meera bai (B) Ram-Sita (C) Mahadev (D) Shree krishna

Neds’ wem THERAT 2
(A) HRETE A (B) W9 (C) #eRd ¥ (D) &1 |

According to 2011 census the lowest density districts in Rajasthan are-

(A) Barmer - Bikaner (B) Jaisalmer - Barmer

(C) Jaisalmer - Bikaner (D) Jaisalmer - Churu

2011 @I SRTVET & JATAR TS H =IAH 8Ted dTel fotel &—

(A) TSHR — dIBR (B) SRR — qISHR

(C) SR — dIHTR (D) SR — I&H

The first wind power plant of Rajasthan was established in-

(A) Amarsagar - Jaisalmer (B) Bithadi - Jodhpur

(C) Devgarh - Pratapgarh (D) Mohangarh - Jaisalmer
SR &1 Y2H Ya= SHoll T3 AU fbar 3r or—

(A) SFRAENR — SR (B) dleel — SIEgR

(C) TITE — YIS (D) HIETTE — ST

‘Bari’ ornament is worn in-

(A) Neck (B) Nose (C) Ears (D) Wrist
CEURCIGCUICESIRC ISR

(A) Tl H (B) &% H (C) & H (D) ®aTg H
Where did the reign of Maharana Pratap take place?

(A) Chawand (B) Gogunda (C) Udaipur (D) kumbhalgarh
HERIVM UATT &1 RISIfcold &al gl oa1?

(A) =TEe (B) TR[=_T (C) S&IR (D) HHTS

Name the person who was expelled by Ratan Singh from his court and later he went on
asylum to Alauddin khilji-

(A) Sunder lal (B) Madan lal (C) Raghuji (D) Chetan Raghav

S afdd & A gagd 9 IdARiE 9 e SR | Mara e em, @ 9 | 98
3reSed Raefoll & TRV # FalT 7|

(A) gex el (B) #HaAaTe (C) il (D) <d+ ¥TEd
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76.

y 7 8

78.

79.

80.

81.

82.

‘Bhomat’ area in Rajasthan is related with-

(A) Udaipur (B) Banswara (C) Bhilwara (D) Alwar
ISR H HIFe & T g—

(A) STIAR ¥ (B) di\arsT | (C) WiadareTd (D) 3R ¥

What was the name of first Rajasthani film?

(A) Nijarano (B) Babasa Ri Ladli

(C) Bai Chali Sasariye (D) Mhari Pyari Chanana
qeH SRR fhed BT A1H a1 o7?

(A) ol (B) 9TaTET X ATSell

(C) 918 Fell AR (D) TR IR =N

Who took oath as Chief Minister of Rajasthan maximum number of times?
(A) Mohanlal Sukhadia and Haridev Joshi

(B) Haridev Joshi and Bhairon Singh Shekhawat

(C) Bhairon Singh Shekhawat and Hira Lal Devpura

(D) Shivcharan Mathur and Haridev Joshi

RISTRIM & &3 & ©U # Faiftid R auer fhae off?

(A) Hig-iellel garf$ar vd gRag Siref

(B) BRag SRl v #RIRYE dramaa

(C) WRIR¥E Ywmad gd ERTATA SayRT

(D) RraeRor 7R vd sRkaq reh

Degana region is known for which mineral in Rajasthan?

(A) Manganese (B) Coal (C) Tungsten (D) Iron ore
ST &3 oI # fow wafas @ forg S=r Sirar 87

(A) FTST (B) Il (C) TMed (D) T8 D
Who is known as ‘Gandhi of Rajasthan’?

(A) Bhogi Lal Pandya (B) Gokul Bhai Bhatt

(C) Janki Lal (D) Damodar Vyas

MR & e & w7 H fbd SEr ofar 82

(A) WFT ST gusn (B) TMadl TS vg

(C) &I Tt (D) TR &

Where is the only bird hospital of Rajasthan?

(A) Jaipur (B) Ajmer (C) Kota (D) Jodhpur
RISIRTE &1 UhHE uell ffeeirera w8t 87

(A) SIYR (B) SR (C) ®ier (D) SR
What is ‘Lag — bag’?

(A) Name of bird (B) Tax levied on farmers

(C) Name of cannon (D) Name of elephant of Man Singh
AR — 90T T 87

(A) fafsar &1 = m (B) fdhami wR RINT &=

(C) g BT 91 (D) #\FRiE & B &1 9
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83. Rajasthan in its present shape came into the year-

(A) 1956 (B) 1957 (C) 1958 (D) 1959
RIGTRITE 3T IH @y § 3T & J¥—
(A) 1956 (B) 1957 (C) 1958 (D) 1959
84. Word ‘Rajasthan’ was first used by historian known as-
(A) Tod (B) G.N Sharma (C) G.C.Pande (D) Satish Chandra
e ISRAA’ BT Ugell IR FAIT, 741 sfoeaR grT fdar mar—
(A) < (B) SiLU4. gt (C) <. ¥l U’ (D) 94T =
85. Kali banga, an old historical site is located in the following district of Rajasthan :
(A) Bikaner (B) Ganganagar (C) Barmer (D) Jodhpur
BTG, S U URreTiye e 7, 98 ol & fhd Rt § Rera 28—
(A) dHR (B) TR (C) dre™R (D) YR
86. The copper culture signs are available in the district of-
(A) Udaipur (B) Kota (C) Bundi (D) Alwar
Wi & e few e § Sueer 8-
(A) STIR (B) @Il (C) =i (D) 3R
87. The seervi, caste is in agriculture, they are found mostly in the district of-
(A) Kota (B) Jaipur (C) Jodhpur (D) Bharatpur
Rxdl onfa & 9 91 7, A ifdaiera: fow Rl § 918 Iefl 8—
(A) ®IeT (B) SR (C) SR (D) #RAYR

88. Sisodias of Mewar were regarded as-
(A) Suryavanshi  (B) Chandravanshi (C) Agnivanshi (D) Nagvanshi

Hars & el o1 e |11 S B
(A) qEaeh (B) e (C) aftareh (D)  TTaE
89. The first formal grammar of Rajasthani was written by the following -
(A) Jayasimha Siddharaja (B) Udyotan Suri
(C) Bhoja (D) Hemachandra Suri
ISR BT UBell /39t @t~ fordt 1, 7791 @& gR—
(A) o Rt Rigwron (B) ST A
(C) HroT (D) &HE= [
90. Who among the following is a famous singer of the Jaipur Gharana of Music?
(A) Bhim sen Joshi (B) Jasraj (C) GirijaDevi (D) Malikarjun Mansur
AT & SR BRI & ARIg FIAeR BIF S Sl o—
(A) 9EE SE (B) SRR (C) MRS edr (D) #AferdT 7=
91. Phad paintings of Rajasthan belong to the following school of paintings-
(A) Jaipur (B) Kota (C) Mewar (D) Bikaner
RISTRIE @1 B REaR), fEder & f$9 w@ma 4 ! o—
(A) STAR (B) @reT (C) Harg (D) dIrR
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92. The Kalbeliya dance is from which district of Rajasthan -

(A) Jodhpur (B) Udaipur (C) Alwar (D) Jaisalmer
BTl J ORI & b Rtel & 28—
(A) STEQR (B) SEIR (C) 3R (D) SHR
93. Bagaru print is from the following part of Rajasthan -
(A) Jaipur (B) Bharatpur (C) Jhalawar (D) Nagaur
% ® BUTS oI & fhd B o 8-
(A) SR (B) WRAR (C) #em@ars (D) MR
94. Bala Qila is located at-
(A) Jalore (B) Sawai Madhopur (C) Alwar (D) Baran
qrelT [dhelm dal Rerd g—
(A) IR (B) ¥R AR (C) IddR (D) @RI
95. Who is the longest serving Chief Minister of Rajasthan -
(A) Tika Ram Paliwal (B) Vasundhara Raje
(C) Ashok Gehlot (D) Mohanlal Sukhadia
ISR H qaY ol GAY d fhas greasall g R & fhar 8—
(A) SIBRME Urelldrd (B) TGERT IS
(C) 3MeNd TEdd (D) Wl AT
96. Daulat Ram Saran was addressed in Rajasthan as-
(A) Mahatma (B) Kisano ka Messiah (C) Babuji (D) Raja
Slefd XM ARV DI oA 4 GHIEd fhar Sar o 98 dedhs—
(A) HETHT (B) foarr &1 #=@r  (C)drg off (D) XTSI

97. Rajasthan Vikas Party was established by-

(A) Brij Mohan Lal Sharma (B) Buta Singh (C) Heera Lal Shastri (D) Chhotu Ram

SR AT UTE] B RATUAT DI -

(A) gorEET el Il (B) gc1 Rz (C) ERT ofret Il (D) BIeI™
98. Who is the speaker of 14" Vidhan Sabha in Rajasthan -

(A) Sumitra Singh (B) Ram Niwas Mirdha

(C) Kailash Meghwal (D) Shanti Lal Chaplot

149} TSR fAuE 9T & gETafa i 87

(A) gz g (B) ¥ e gl (C) dare #gare (D) wnf=aelrel =geld

99. How many periods of rainfall are there in Rajasthan?

(A) 2 (B) 1 € 3 (D) 4
Torere # auf &1 a9 fhadl IR g 27
(A) 2 (B) 1 € 3 (D) 4
100. Indira Gandhi canal was necessitated by-
(A) Rains (B) Winter (C) Water Scarcity (D) Hot summers
ST 7Tl e P IR BI—
(A) &= A (B) Wl ¥ (C) I & Mg ¥ (D) IAfdd TH A
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Part-C/911—4
Teaching Aptitude / 3111 3if¥ersan

101. The monitor of the class should be —
(A) The most popular student of the class. (B) The loving student of the teacher.
(C) The most powerful student of the class. (D) The extrovert student of the class.
HE HT A BT AMRY —
(A) PET BT Gad by faemedt| (B) et o1 =Ry faemeft |
(C) e & &Y Ifdaemerr faemedt | (D) el &7 afeHEr faemefi|

102. Teacher can develop moral values in students, because —
(A) Teacher has ability to motivate students.

(B) Teacher is role model for students.

(C) Students have fear for teacher.

(D) Students follow every instruction of teacher.
Riets B 9 Afdd qedl Bl [AHRIa FR Fahd ©, i —
(A) Rrers # faenfiar o1 uRa &= @ e € |

(B) et faenffn & forg emesf &)

(C) faenRiat # Reres @ fr W g 21

(D) faemif Rree & ye F<w &1 gre o € |

103. Suppose a gifted student is sitting in the class and gives quick answers to all your questions.

What would you do with regard to your student?

(A) you will ask comparatively difficult questions and persuade him not to become
impatient.

(B) you think that he must give all the answers quickly so you can feel a sign of relief from
your responsibilities.

(C) you will tell him that this is an unhealthy behaviour in the class.

(D) you will ask difficult questions to answer so as to make him realise him that you are
among one of the best teachers.

AT AT IS Hell H TP YIHTRITell BTF §T & 3R 3Mud G4l el & @Rd IR

AT 2| 31T U BT B e H FT HYA?

(A) MY TS w9 ¥ HfoT Y29 quil 3R I MR 7 8F & folg A97GT |

(B) 34 @¥erd & f S gid Wl SR« < =if2y difes amu o fomaeiiRal @ gad
g D |

(C) 3T I Pl b derm # iR BT U e 2 |

(D) U foemft ¥ sfts Sfee ued g8 79 SY 98 U9 & & 17 |ew 31
Rreral § & th B
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104.

105.

106.

107.

108.

This is believed that female teachers are more suitable for primary level teaching because —
(A) They work patiently and affectionately with children.

(B) They have less opportunity for other professions.

(C) They agree to work on low salary.

(D) There is no need of high qualification for this profession.

I8 A AT © b Afer Rierd uifie wR @ R & oy «ifde Suygad &, Rife —
(A) 9 92 & WY HYdH R AR A B Rl £ |

(B) ©9d U 3 JJERN & folU HH 3aeR ¢ |

(C) d ¥ Jd- U B P & foI¢ Fedd Bl & |

(D) =9 U9 & U S=a IFYAT P BIS AGIGHAT T8l & |

When you instruct a person to close the door and he strictly follows the instruction, then it
can be concluded that —

(A) You have given an effective instruction.

(B) The message has been received by the receiver.

(C) The message has been well explained by you.

(D) The receiver is ready to accept your order.

S9 A9 BT fdd BT SRAST 9§ BRA BT (39 Td & IR I8 Pels 9 Ay &1 g
PRl B a1 I8 ey Rrerar o gear 8 fb —

(A) MU= Ud wrdr fder fear 2

(B) WY UTE §RT U fdam T |

(C) 3U+ Feer el Wiy wee fhar 2|

(D) WTE MU AT B WIHR & & foll TIR & |

Communication in classroom depends on —

(A) Teacher’s ability to explain (B) Difficulty level of Subject
(C) Student’s ability (D) Class —room interaction
He HeT H HAR iR avar & —

(A) PRrre o we A B &HaT WX (B) fawg &1 ®feAs wWR W
(C) faenfefat @ amaar w (D) per 3id:fhar R

A teacher should —

(A) Earn money as much as he can.

(B) Make efforts for educational upliftment of students.
(C) Work for students benefits.

(D) Take care of students.

T et BT PRl =AMy —

(A) AfBIE =T § 99 HHET| (B) Bl & Afdie SE & forw Iy |

(C) B & f2d & &1 | (D) BT B SEHTA |

The reason of highest rate of dropouts in rural areas is —

(A) Irrelevant curriculum (B) Poverty

(C) Eagerness for quick employment (D) Inappropriate interpersonal relations with
teachers

TTOT & H Aoy Bs dreli #1 Jaiftid g% BT BRI & —

(A) IURTS ITGaHH (B) I

(C) @Rd ISR & forg Sgadn (D) fRrerpl & |1l SUYad IRERS Hae

NKP-2018 (Series-B) Page 17 of 32



109.

110.

111.

112.

How can a teacher establish warm relationship with his students?
(A) Always laughing with them.

(B) By making suitable distances.

(C) By hearing their difficulties and resolving them.

(D) By making students his friends.

v Rietd oo BTAT 9 MR A6y fhw uSR wnfid & Awdar 87
(A) S99 g &l Holldh XD |

(B) <74 3fd gl a1 |

(C) T THWRI B G- & a1 IAd] e & |

(D) BT &I JAUAT 747 IR |

If some poor students want to study in extra time from you, then you —
(A) Ask them to take tuition.

(B) Keep them off.

(C) From time to time meet their difficulties as needed.

(D) Send them to another teacher.

afe f e v oM™ ifaRed =g # ugT @red €, df oMy —

(A) SFBI TIIE o & g HE |

(B) = Traidl & |

(C) AMIIHAT ATAR THA TG TR IASD! HoARAT Bl GRT B |

(D) S fhdl 3= fBretd & Iy Hoii |

During the educational journey, a student fights with an old man about the place of seating,
then, what will you do?

(A) will take the side of the student. (B) will explain him to respect elders.

(C) will ignore it (D) will interfere to resolve

Wfdrs A= & IRM 671 B S8 B B Uh BIF fhdl gg W TS dodl &, ar H —
(A) BT &I U&T o[ | (B) S GHHATSLIT fb ST BT AT BN |
(C) T ISl HHIT| (D) fue™ & fog e |

It is necessary to give details of the student’s progress to the parents so that —
(A) Parents can know the progress of their children.

(B) This gives proper guidance for parents to organize tuition.

(C) This keeps children in fear.

(D) Children can not give wrong information to their parents.

BTAT B YT BT R AR BT AT MTRH & —

(A) 3OY AMAWGH 3T Il I WY S Fhd & |

(B) =Y Afad Bl YT o &) Sfd Herrg fAerd 2|
(C) =Y dedl § S% 91 ¥&dl 2|

(D) = SIM9Tah] BT Teld STHER 8] o Fhd |
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113. If you are evaluating, then you will —
(A) provide marks according to the work.
(B) give more marks to those who study tuition from you.
(C) give rich students more marks.
(D) give more marks to weak students.

Ife 319 JeAidHT B <2 8, a5 3T —
(A) B & ATAR B 3fH Y& BN |
(B) = AfE 3fd < S AMIA TYIE U & |
(C) 3R BTH &I AP 3d < |
(D) fiws omEl @ e 3fh |
114. A teacher should use audio visual material, because —
(A) Student’s interest is created in the lesson.
(B) The focus of student’s attention remains in learning.
(C) It helps in realizing knowledge and diversification of text.
(D) All of the above.
Ud TS DI GII— AHHT BT GART HRAT A1y, Rifs —
(A) BHEl & Ue § By IEdl § |
(B) BTEI & &4 UgTs H di-ad W&l & |
(C) I & aRda® WY YgE H-- 9 U18 § fafderar o= § 98s 8l & |

(D) SURIad T+ |
115. Class—room communication should be —
(A) Teacher—Centered (B) General-Focus
(C) Learner—Centered (D) Test book—Centered
HeIT—He] FTRIYUT BT AT —
(A) T afea (B) WM dfvad
(C) B dfad (D) URIYKID Biad

116. While using ICT with teaching in class —
(A) No teacher will be required
(B) More work load will be there for the teacher
(C) Teacher’s role will be as a facilitator
(D) Teacher’s role will be central
e fRreror # ICT ygad ded aHd —
(A) TP H| NTTIDA] Ae] 2T |
(B) 3eUUh &b folu BRIYMR 3ifde & ST |
(C) 3D P! YHABT 9IS & HY H =7 |
(D) 3MEATIdH B YABT Bl & S |
117. The status of teachers in the society should be high because they -
(A) Do great mental work (B) Meet people of the society
(C) Prepare future citizens (D) Do more labour.
ST H Rigihl &1 WX a1 &F1 A1y, Jifes 9 —
(A) ITerd HFRIS B R ¢ | (B) AT & <N & e 2 |
(C) 14T AFTR®T BT IR B & | (D) 31fdrs 19 B 2 |
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118.

119.

120.

121.

122.

For a teacher to make a place in society -

(A) Must stay in political party.

(B) Must fulfill his obligation.

(C) Keeping one self active in the activities of society.

(D) Accumulating more money for becoming influential.

Rt &1 FES | @I g9 B forl —

(A) Tt oeifae arel # ear @nfed |

(B) 3+ a1ired @1 forrr = |

(C) |9 T TfAfaferay § o= &l Afshy g=1 =nfed |

(D) 31 I AP &9 A HRd 9 Y9G Bl dgr™T Ay |

As a teacher, you would like to devote your evening time to what work?

(A) In discussing politics (B) In entertainment work

(C) In other activities to earn money (D) In social work

Uch TS b wY H MY (U1 IATH BT G fbd Bl § o1 gdg dea?
(A) oI @ F=t de o (B) #ARSH &1l H

(C) 99 Wit & 3T H1al § (D) mHEToTe &l

A successtul teacher is one who -

(A) Gives good marks (B) Checks homework regularly

(C) Keeps strict discipline (D) Remains aware about the progress of students
qane e a8l 8, o —

(A) 3B 3F <l B | (B) frafid eer <@ @ |

(C) HOR I & 2 | (D) BET B U & Ui FoTT 8T § |

Which of the following criteria would you follow when punishing students -
(A) frequency and seriousness of offence.

(B) equal punishment for all without discrimination.

(C) only the seriousness of offender.

(D) only the frequency of offence.

39 BHEI $I qve od 99 1 H ¥ {5 AgUS &1 gred Hedl?
(A) S3TURTY BT 3Tgfa T THRGT

(B) fa=r faseft Wewrg & Y & IHE Tvs

(C) Hael IR B TR

(D) &I AR B! AR

If a student regularly comes late in school then you will -

(A) Complain to his parents (B) Find out the reasons

(C) Remove student from school (D) Punish the student in front of all students
Ife y B AR [denad | fdeq 9 3fr g, ar —

(A) SO MHEDT | R &1 (B) $9® BRUN &1 9al o T |

(C) B & fAemey 3 Ao < (D) |4l BET & AMT S gfved & |
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123. When would you like to take additional responsibility as a teacher?

(A) For new knowledge (B) For praise
(C) For promotion (D) For Co-operation
Rt & wu # 3NU w9 AfRad Saxa¥c o= amed?
(A) 0 9 & ford (B) wein & ford
(C) ueEfy & ford (D) 98I & ford
124. The best way to create awareness is through-
(A) Family (B) Society
(C) Books (D) Companion
[Tl UST &R & ol |aiq AR & —
(A) TRaR (B) AT
(C) T=IH (D) & Amh
| helps to increase the general knowledge of the teacher -
(A) Students (B) Fellow teacher
(C) Newpaper-Magazines (D) Family members
IS D AHAFI—S g H FERId & —
(A) BF (B) il 3euudh
(C) TF—uf3are (D) YRAR o+

126. Main objective of education is -
(A) Development of language skills (B) Development of Social Citizenship

(C) Give punishment (D) Personality development
e &1 U Ui Igevd B —
(A) HTYT BIYA BT [AHrE (B) AMHIfSTd ARG &1 fabr
(C) TUS <A (D) ofdaca fasra
127. Successful leadership is -
(A) Democratic (B) Monarchic
(C) Group based (D) Dictatorship
qhel Wi Bl © —
(A) USITdiHD (B) XTSIl
(C) B 3feTRd (D) dTEIEl

128. Teachers in the teaching profession do tuition because -
(A) Students force them to do this.
(B) Their greed for wealth has increased.
(C) Their Salary is low.
(D) With growth in their knowledge they want to disseminate it.

AT FIHR H R1eTd SI-H dRd ©, Fifd —

(A) BTF 98 UG P-4 & ford amed &ed 2 |

(B) ST “—AIgUdT 9 TE T |

(C) ST 9a- & 2 |

(D) Wd & 9 ¥ Afgfg 89 | 9 0 FF BT TR BT A8 & |
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129.

130.

131.

132.

133.

134.

The education given to the students by the teacher should be :-

(A) Professional education (B) Scientific education
(C) Related with Culture and spiritual (D) All above

BT g BT &I &1 ST arell fBrm 9 & defea g 3y —
(A) forem agaai¥e & (B) dsmfvra &

(C) WP Td AT ¥ Hdferd & (D) Sugad |l

Depends on the teacher’s awareness -

(A) Teacher’s knowledge (B) Teacher’s financial Status
(C) Teacher’s popularity (D) Teacher’s Resourcefulness
TIF Pl SITeHAT IR R &1 & —

(A) 3ETIH BT I (B) 3regud @ I Rerfay
(C) 3eggd &l wE&Ifar (D) IS B FHqYUid]

If there is a political debate, then you -

(A) will actively participate (B) will enjoy

(C) will be one sided (D) will not pay attention
Ifg HE IoFIfad 989 & <&l &, df 39 —

(A) ufshg 9FT o (B) afHE of

(C) fH Ue uer &Y 3R B (D) g9 981 <

All round development of students can be done -

(A) By providing education facilities

(B) Through realisation of Social Responsibility

(C) By considering the interest of students themselves

(D) By giving them money

BIE1 &1 |aiior faerT foear S dawdr g —

(A) TRreror gidem qax (B) IS TIRT BT el BRID
(C) BEIH W4 & B &1 I & (D) S9! &7 qav

The leader of the group can only give successful leadership when he will :-

(A) Be patient (B) Be disciplined
(C) Be serious (D) Berich

WE P a1 T A6 g < Ghdl 8, ofd 98 —

(A) wETefia & (B) ST &
(C) TR & (D) &= &1
Complex and difficult subject matter should be taught -

(A) According to students (B) In Sections
(C) Afterwards (D) In between
SIfeet T HicT favawy o1 RIeor SR ared —

(A) ®BHEl & FAR (B) @vsi H

(C) @rg # (D) dra—dra H
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135. The best way of studying evils in the nearby society is by-

(A) Contact with students (B) Contact with parents

(C) Social survey (D) Book study

e ST # AT EHERINCaRC I pE HYA BT AT AH & —

(A) ®BE 9 49 (B) IfvmEasl | HUH

(C) ARG Hderor (D) UK 3eqa+
136. Effective decision making depends on -

(A) Leaders (B) Members

(C) Both Leaders & Members (D) Interactions between the two

gTd) fofa—famior fiR @xar & —

(A) =T W (B) Wi W

(C) =IdT U4 W&, T W (D) THl & #eg ofa: fohar W
137. 1 often get angry when people -

(A) Do not agree with me (B) Talk about their own interest

(C) Blame some innocent (D) Quarrel with each other

el TGER DI AT B, T AN —

(A) W 91 2 A 2 | (B) g w@ref &l 97 HRd B |

(C) fosh fsty &7 < <q €| (D) ST H TSI v 2 |
138. How to improve Education?

(A) By administrative reform (B) By changing the method of examination

(C) By spending more money on education (D) By recruiting best teachers
Rrem # YuR fow yaR dwa 87

(A) RS IR gRT (B) u¥ier ygfd § uRad- &
(C) IR WR 3% o= T Hb (D) 415 Rl &1 Fgfaa wxa
139. If the students do not understand the text the teacher should -
(A) Explain again (B) Start next lesson
(C) Talk to Principal (D) Ask questions
Bl Bl yre FHsl H T8l 37 WR 3edIS ol arfd fb —
(A) GERT FHSIIA (B) 3Tl UIS B HR <l
(C) uTam | 91 BT (D) U gBI
140. What should teachers do to get rid of theft habit in students -
(A) Explain ill effects (B) Explain with example
(C) Give punishment (D) Scold
BE # AN B 3MMEd GeM & o 3aud & a1 SRl d1fed?
(A) guERemm Fam =y (B) STTERUl T FHET 1Ry
(C) &Il <7 =y (D) dTST SaR
141. Selection of subject requires -
(A) Scholarship (B) Educational guidance
(C) Professional guidance (D) Choice of students
fowai & @99 & ford smaws § —
(A) fagar &1 (B) f&rd fae @
(C) waid e @l (D) BMEl & TTBT DI
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142. The teacher gets good information about the events of Country and abroad -

(A) From history books (B) From Newspapers
(C) From radio news (D) From world tour
AP Bl I — A9 B TRl B e JAFHN U 8 8 —
(A) SfERT @ graai | (B) WHER-—IAT ¥

(C) feT wER | (D) faeg w1 |

143. While teaching in the class, the teachers should —
(A) Seek active cooperation of the students. (B) Keep the students as passive listeners.
(C) Do not pay any attention to the students. (D) Remove the difficulties of the students.
HeTT | Yol aAy, fRetdl o1 @far —
(A) BEI & Afhd T8INT BT T B | (B) BEI HI FSHT SRl @ w9 # 19 |
(C) BTET WR BIE &9 9 ¢ | (D) BHEI $ HSAEAT BT T N |
144. To motivate students in the class, the teachers should —
(A) always praise their students.
(B) always criticize their students.

(C) judiciously use praise and criticism.
(D) give such comments which neither indicate praise nor criticism.

HeTT | BTl Bl URT B & forg, Riemp! &1 A2y —
(A) THI AUA B B ARIEAT BN |
(B) EHIM 394 BTAl b1 SATAT==T B |
(C) a9 & werar SR AT BT SYART BN |
(D) U fewfrai < i 7 € wxrE @ik 7 & 3= $fa Y|
145. During teaching in the class if a student asks question, the teachers should —
(A) give correct answer immediately to him.
(B) ask the student to come after period for the answer.
(C) scold him and tell him not to disturb the teaching.
(D) not pay any attention and continue his teaching .

HeT H UG B AR UH BIF U gudl 8, Red bl amfey —
(A) Y dhld Hel odd © |
(B) BT ®I SR @ foIU HTa0isr & 91 9 & oy &g |
(C) U Sic 3R S Hr R § arr SO~ 7 B |
(D) PI3 &9 7§ 3R AU+ fBrefor &1 oIRY I |
146. The basic responsibility of teacher in the class is —
(A) to promote learning in the class.
(B) to extract school’s fee from the students.
(C) to arrange the records of the students of the class.
(D) to give extra importance to the students having tuition.
HET 7 Rerd B g [NEenN § —
(A) Hem ¥ IffeNTH ®I gam™T |
(B) B 9 faare™ b T |
(C) ®ell & B & Rare Bl AaRed HRHAT |
(D) TYIH dTel BTAI B AfH AGTd AT
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147.

148.

149.

150.

A class teacher is expected to behave with his students —

(A) more loving with intelligent students.

(B) reluctance towards poor students.

(C) equal behaviour with all the students.

(D) behaviour according to the expectations of the students.
Teh Dell Rereh Bl 30 Bl & WY GagR PR Bl IS & —
(A) gfgu BE & R S IR |

(B) RI§ BIET & wfa e Ta |

(C) u¥l Bl © AT FH FAER |

(D) ®BTE & SHIEl & ATAR UdeR |

The teacher is considered to be the guide, because —

(A) he has unfathomable capacities to build the future society.
(B) he is a symbol of social belief.

(C) heis a guard to the society.
(D) he is indulged in giving shapes to frustrations.

Riets &1 Anf <efe AT SIrar 8, wife —

(A) Sa8 9ISy & gaot & Efor &) s emar €
(B) a8 AmIfoieh fazara &1 udlie © |

(C) d8 9o & foIU U adrel € |

(D) 9 B3I BT ABR o ¥ < B |

Teaching should be mainly done by —

(A) Skilled and trained teachers (B) Untrained persons

(C) Experienced teachers (D) Young talented persons
Rreror g w4 A ... RT 1 ST ARY |

(A) e 3R gfifér Riereni (B) ufifera =i

(C) Sl fRiereni (D) a1 gferreretl eafdai

To inculcate human virtues among students as a teacher —

(A) you will not do anything wrong so as not to send wrong message to the children.
(B) you will reflect all those virtues, which you wish to imbibe.

(C) you will continuously tell them and make them understand.

(D) you will bring change in the children to suit the present context.

U e & w5 H Bl § 7Hg—vl Bl fJbRd dv & forg —

(A) 3Md BB Al Tad & B Al Ted BT Terd F A A |

(B) 3ma 39 9l Ui &1 ufafdfea &3, R oy serrd wRarr @Ed € |

(C) 39 I2 IR gareil 3R Se THSmeT |

(D) MY GcHd HaH & 3wy dedi H§ gaad AT |
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151.

152.

153.

154.

155.

156.

157.

158.

159.
160.

Part-D
Language Proficiency-English

Directions: (Q.151) Change the Direct narration to Indirect narration-

She said to me, “What are you doing?”
(A) She asked me what was I doing (B) She asked me what am I doing

(C) She asked me what I was doing (D) She asked me what were you doing
Directions: (Q.152) Choose the correctly spelt word-
(A) Dicease (B) Disease (C) Desease (D) Diseese

Directions: Find one word for the group of words given below-
A person with long experience of any occupation-
(A) Veteran (B) Wizard (C) Genius (D) Expert

Directions: Choose the correct Synonym of ‘Eradicate’

(A) Emerge (B) Uplift (C) Remove (D) Increase
Directions: Give the correct Antonym of ‘Compassion’-

(A) Anxiety (B) Hatred (C) Connection (D) Conducive

Direction : (Q.156) Choose the option that is correct-

The teacher was too angry that she left the classroom-

(A) The teacher was very angry that she leave the classroom.

(B) The teacher was so angry that she left the classroom.

(C) The teacher was too angry and she had left the classroom.

(D) The teacher was too angry but she leave the classroom.

Direction : (Q.157) Choose the option with the word that is closest in meaning-
Abandon-

(A) Try (B) Join (C) Forsake (D) Adopt
Direction : (Q.158) Choose the option with word gpposite in meaning-
Entangle-

(A) Twist (B) Untwist (C) Hook (D) Impede

Direction : (Q.159) Choose the correctly spelt word-
(A) Abbreviate (B) Abreviate (C) Abrreviate (D) Abriviat

Person who loves books and reading -
(A) Philologist (B) Bibliophile (C) Misogynist (D) Misologist

NKP-2018 (Series-B) Page 26 of 32



161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

Directions : (Q.161-164) Read the given passage and answer the questions that follow-

At this stage of civilisation, when many nations are brought in to close and vital contact for
good and evil, it is essential, as never before, that their gross ignorance of one another
should be diminished, that they should begin to understand a little of one another’s historical
experience and resulting mentality. It is the fault of the English to expect the people of other
countries to react as they do, to political and international situations. Our genuine goodwill
and good intentions are often brought to nothing, because we expect other people to like us.
This would be corrected if we know history, not necessarily in detail but in broad outlines, of
the social and political conditions which have given to each nation its present character.

Mentality of a nation, according to the author, is a productof ................

(A) Present character (B) Politics (C) History (D) Geography
The character of a nation is the result of its-

(A) Ignorance (B) Cultural heritage

(C) Socio political conditions (D) Mentality

The need for a greater understanding between nations-

(A) is more today than ever before (B) was more there in the past

(C) is no longer there (D) has never been there

‘Genuine’ in the passage means -

(A) Historical (B) Political (C) Real (D) Fake

Directions : (Q.165 - 167) Choose the correct alternative -

............... car must be insured.

(A) A (B) An (C) The (D) Al
Everyone expected the same team ...............

(A) towin (B) was winning (C) won (D) will win
It took longer ......covvvvvneivnennnnn. I expected.

(A) though (B) but (C) than (D) then

Directions: (Q. 168 —169) Change the following sentences as directed in the brackets-
Only a coward would say so. (Transform into Negative)-

(A) Noteven a coward would say so (B) None but a coward would say so

(C) A coward would only not say so (D) No coward would say so

Mohini is more beautiful than Mitali. (Use positive degree)-

(A) Mohini is not so beautiful as Mitali. (B) Mohini is rather beautiful than Mitali.
(C) Mitali is not as beautiful as Mohini. (D) Mitali is as beautiful as Mohini.
Directions: (Q.170) Choose the correct Tense-

L scsanansmsiiasiss the stadium long before the match.
(A) reach (B) was reaching
(C) had reached (D) had been reaching
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ANT—g
HTST AT - fa—ar

171. =1 # srgg RAadaneff g -
(A) Yef—yferoer (B) Ras—=Ra® (C) Wii—-kep (D) AIHT—3IMHIERI
172. gdd, 31 fagm, |, @d, ge1 fo amaredt & aref 2—

(A) IR (B) = (C) YR (D) ¥R
173. JE AL qH TR T8 2—

(A) S SIET 5 ST 9 : 3101 (B) SAHTIA H TS dTell : Q&

(C) e forar garm : << (D) it fRT garr &1 : uford
174. 9fEHH B9 &1 79" refarId HETaRT &—

(A) ITF HT G (B) 3 WR TR TS

(C) 3adl & °ls SreMl (D) 37l &1 gl

175. “®ag FRIBY 8- 7 &1 | drplfa &1 el 28—
(A) g=i &t fFar g 99 &8 9l &1 (B) g% U+l giedT A8l Biedl |

(C) T & AR R JIER HAT | (D) IV 3R T | T8 UY W & |
176. IO i B g9 arern fddea 8—
(A) =Ty (B) weMH (C) Jafsm (D) wele™

177. fo=faRaa § 9 sHar 9 fave wal F8) e—
(A) 3 + TP B) YW+ @I (C) fa+wm (D) ™+ =73
178. ‘sieE e &1 de 99 faus 8—

(A) wisT & forg & (B) el &1 &5

(C) hreT 3R & (D) WIST AR &F &1 e
179. HHIRY THN DI S dTell fddod 28—

(A) HrerebHet (B) fryas (C) TRYT (D)  EHISTETET
180. =12, B9 @R IT@’ Bl €A el STFT 53—

(A) SU (B) <@ (C) wfa (D) a7
181. facsh aror & SWET J 9971 o8 B—

(A) GREPR (B) "Rue (C) 3rerdedr (D) BRI
182. WgaTad dfgd UIT | 94 ¥eg Bl I ardl fdded 8—

(A) UfER (B) o=am™= (C) arferm (D) TAHSERT
183. ‘31 BT U Tl I8 8] 28—

(A) ddd (B) =q (C) @] (D) WiTde
184. SIAT I g 'HAS BT GIFardl B—

(A) 3/, Sa, Afera (B) fafr, gy, smerg

(C) grafyy, efofl, Afe=h (D) Hfe™, AFRY, A
185. fawrg vreg &1 fAuIaTei® wsg B—

(A) T3 (B) e (C) STEelTg (D) wifa
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186.

187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

BT fAwey fadm wreal &1 =8 geriar 28—
(A) gE—faga  (B) aR¥—aftrm  (C) dam—garr (D) e—favm

RR—AR' s gl 31 a1ef B 8—

(A) TRIPTBT—THSI (B) 9gd 9Hg do— 9
(C) WHE—HTDT (D) g&— T

STEl T, JHAT g8cil ©, 98 <% JUSS o | a1 o—

(A) 9ERY 9/ (B) AYgad g (C) fAst ara (D) fNEErEe 9
1 # 9 59 fAwen & Wil o gg -

(A) U@, LTI (B) #Hl, iy

(C) fagH, i (D) darcHifd, gH18

Y AT B

(A) g&T WR PHrar diel V& B | (B) SR UH AT anferat 2 |

(C) B WR BaT @ aT | (D) BTG IATdBaAral FRT 14T |

feft a%q @ UM B IhT AT BT AN AT HETART B—

(A) 3ifai § e (B) i =R BT

(C) 3ifEl # G IaxeT (D) Sid Ger

‘;ﬁﬁ—qﬂﬂ TR 98 U, IR B TR s | [T ARG THIS BT T BT
2

(A) eafy (B) w1 (C) dreft (D) fafa

e o aiglg onelRe @vs &—

(A) F+9=8& B) T+¥="F (C) T+I=% (D) A+I=4
ATH—gHd @1 IS IH o—

(A) s (B) ISTHI-3FoTHT (C) Ter-geir@dl (D) &fR—gy

"I ASTE DI & | a9 H BT WG g—

(A) MM Yddhlcdd (B) M~ Ydblad (C) 34‘10’? Yddhrad (D) WHT A BT

o1 # Wraarae s TE 8-

(A) T9ud (B) AR (C) d8® (D) Ul

“gerr fRA—1d Ul ® difts ST UfART ukienn § @94 & WY | Y@ifehd g g
(A) e 9IUF Y (B) St dd TGO HHzad qeTdh
(C) HHMIEGRYT FHzad dred (D) fura

T& S S W@ 7| g H ged’ YA 28—

(A) TDpaa (B) wggdT

C) Udbdad & W W ggaa- (D) 9ggaT & Y W Ybaa
e gy 9 g oeg T8 8-

(A) RgeT (B) UsIRE (C) 818 (D) Yad

= # o uufuard | g-

(A) ¥, s, arfasn (B) 37l 4, g

(C) guiy, fRwiy, e (D) TRw1, 9IRS, icTq
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171.

172.

(A) QI + 3d

HMT—<

HINT Il - GEhd

a3’ SARAT Ua Upfaueaar: InT—
(B) <3+ 391

=1y aTeRy Ye—arar iRa—
(A) I BRSPS
(C) HHR PRSI

(C) TR +79

(B) &HA pEISFISTRIT
(D) HTETI HIENSESTRIT

(D)

FAIGEE

173. ‘Ul9d:’ 3f0 U Aufdees: I1Ra—

(A) Ul + 3 (B) Ul + 3: (C) W+ amd: (D) Ul + AT
174. aifi®aR: &:?

(A) urfere (B) udsifer (C) BHIAgA (D) ARERTS
175. IMI=R UIAT: hiafaer qfa?

(A) Pfaer (B) =qfder: (C) yafder: (D) wefaer:
176. Hoviee® ggii—agad wu Jfasgfa—?

(A) eI (B) Wolw: (C) Ha™g (D) oA
177. SRS STRY RIHRT—

(A) Wi (B) e, (C) <= (D) ®va:
178. g=<irg qof: rfa—

(A) dhR: (B) 9o (C) S (D) 9Hhx:
179. “urey: foparany ... 9s W Reaa: e vafe—

(A) org; (B) U= (C) fobar (D) e
180. G¥hd IUFT: Bicl?

(A) Ir<TEer: (B) Qarfder: (C) TeMlufe: (D) fdurfer
181. ‘3IH’ SARHAT U< Ydfauedl: IRT—

(A) =T+ Iq (B) T+ Iq (C) &1+ 3q (D) &I+ Iq
182. “gairga faefraa gfa ... Raa: e 1fRa—

(A) &1g: (B) ¥ (C) 37F (D) Y3
183. '9Y' SARAT U= URfayEn: AT—

(A) g+ 7 (B) T + 7aq (C) gif +vaq (D) T+ vaq
184. TUHHGIRT ATSIHATAT MR BRDT oo ST —

(A) FH: (B) WHETHH (C) IMTEFH (D) 3B
185. smrgHIfaeRfdafead aRe &1 A9 W?

(A) SMUTGTH (B) HHSTHH (C) &H (D)  3ferHIH
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186

187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

HATYEl & FH:?

(A) HHIRY (B) 3rarfrra: (C) gy (D)
g T ST g3 fe?

(A) Ta<d for (B) fosar (C) Tdftrea (D)
e faereoT qger:’ IR SSERVHR—

(A) BT (B) HIoW: (C) leficge® (D)
fawy g4’ a1/ &1 Hell ya<ia?

A) fa (B) INT: (C) wEd (D)
YR A I USGTATR N . BT 7

(A) &Hq (B) @urH (C) faw: (D)
UG TR JEURARDT BT AL RITT—

(A) ggfr (B) wi=EaHq (C) T (D)
Riaisal:’ saRE e G-I &2

(A) frar + = (B) f¥raq + e=:  (C) R + am=k: (D)
%' grdr: faffaeerer STy R gfdaad wu wfdsfi—

(A) oI (B) M (C) M (D)
g sfa ue arqaerea aRa—

(A) 9l + dledddR (B) 4l + geadRr (C) 41 + dsadRrR(D)
MM I FETH! faveR: wuHRa—

(A) XTI (B) Iy (C) T (D)
=1y argrg areRrERa—

(A) STCTHRATIH: (B) fOqw=: wur

(C) SuredRITd 37 (D) B MUTeT: TeTH:
"HRGIOT Hafa—

(A) 9= (B) we (C) b« (D)
e fquTge e SiRk—

(A) eI ¥edl(B) EeISTRI HIMT(C) Fikre < ued (D)
dgdife FarIR e <o 3iRa—

(A) STRUSRIGY: (B) YdUaRiuem™: (C) IIYcrRugH: (D)
T g wafa—

(A) 2T (B) Fd—aIdg (C) Ta—aq (D)

L

113713

fRrasy + sk

0 + fafeforsaar

3t

1R gfed: G
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